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1. (a) State True/False with reasons: s

FRUT Afgd /3@ faf@e
(i) Third generation computers were based on
transistors,

Wﬁﬁ%mﬁfmﬁmmm

(i) Multiprocessing operating system may run on
the system having two or more processors.

weRfET AfRfEn fawn sa w2 |
-~ (iii) A network is interconnection of computers

that enables the users to share network
resources.
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_(iv) A derived attribute is directly stored in the
table. ,
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(b) Choose appropriate words to fill in the blanks:
f =l & @ F A 3ugw = g
(i) Operating system is ........ (a system / an
application) software.
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3 - 3140
(i) Hard drive is a ...... (primary/secondary)
storage device.
T O o (TfiE/ )
B feamw 21
(iii) In a ..... (ring/star) topology all the

computers are connected to each other
through a central network hub.
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2. How do the different functional components of a
computer system interact with each other for data
processing?
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How is an application software different from a system
software?
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3. “A tree topology connects a number of star networks

through“a central cable.” Do you agree? Explain
. advantages and disadvantages of tree topology. -
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; Or (39d)

% Compare client-server computing architecture with

A peer-to-peer computing architecture.

s peer-to-peer computing architecture & @9 client-

; _ _ server computing architecture qan Fi | 6

¥ .

[ c 4. What do you mean by a database system? How is it
different from traditional file system?
mﬁv.wmﬁm.wmi?mﬁmm
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Explain the  following types of relationship wth
¢xample:.

(a) One-to-one

(b) One-to-many

.(c) Many—to-many;

(a) U@E—I}-ﬁ (One-to-one)

'(c) IAF-Y-374F (Many-to-many). 6

(b) TH-V-31F (One-to-many)
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